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Q1. U= 180 Hiex «&fy 37, faadia fRor & s arelt ua 37w 270 Hiex «w=fy 27 #1 10.8 AFve
H 9T AT g, TS Tgelt o it i 60 TRt wfar =er gr, av g@dy o vt At g2 (B
i =er )

(a) 80 et iy et

(b) 90 et I =eT

(c) 150 Tt wfa =rer

(d) 160 ForeT ey =rer

(e) 120 T i =er
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Q2. T & 31T U TL %l T o 1< T ATATT FHLT: 16: 15 g1 THE SAATAT, UFH 9 o 8 5 H
480 TrerTHTe #it LT 7 Tl a9 AT AT, 7 67 TS T JH-ATATE g1 6 5 | AL vl L1 a7
F(?

(a) 450 ferft

(b) 480 ffY

(c) 360 ey

(d) 380 freft

(e) 420 fefy
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Q3. ST T ® W AT it 11 12 THei/eieT . T 19 &<y  Wiago 36FRHT 4 52 & a7 F<dt
&, a7 & Y i fhaet 82

(a) 3 fft/=raT

(b) 4 Feft/=raT

(c) 5 fert/aeT

(d) 2 frefit/ereT

(e) 38 & g 7L

L1Difficulty 2

QTagsBoat And Stream
QCreatorDeepak Rohilla



Q4. JT IFHT | THTT T ¥ 6 THA T Sarer X AT TATE AT 8. ST S UL Ug= a1 Th
=% 3 T 6 21 S T TS G % i 5 iz 52 A # ota< & AT et i TR 330
e 3, A7 a8 SATRE I T Y A B R ¥ o1 @y 22 (Pl o o )

(a) 24

(b) 27

(c) 30

(d) 36

(e) 46
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Q5. & 3T P 3T Q I7 €21 FHeT: A 3T B ST T Th-g@x & 200 g2 € a8 & 991 9697
T UHGEL il S TAAT ST FHAT & 3L THGHAL il A TA o I o & A & 15077 it
0 R et §. 3 P ¥ i &1 ¢ Q =t i & fohva srqama 87

(@)3:1

(b)1:4

(c)1:2

(d)4:1

(€)5:2
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Q6. TF =ATw 10 " & 7 FFft wiy wer Y i = 79T 3} 9w 12 &t wf ser fir v o=
IreHT 100 foFeft it T O AT 7. S G TAT ART | T il T2 gL A1 i,

(a) 72 frt, 28 ot

(b) 50 frHT, 50 fareft

(c) 28 TorHT, 72 et

(d) 32 T, 68 et

(e) TTH | FIS AT
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Q7. T & it farda e v e swwer: 10tfi/ase ix 20%/a%Es it fd T J9 arer =;AAT
FT S A 12 TS 3T 10 e | I FLAT €. oF i ASTS ATT HiTord.
(a) 500 wex

L1Difficulty 2



QTagsTrains
QCreatorDeepak Rohilla

Q8. TH T AT &l UG & o1 sl gLt 60TRHI/wer it T & TT HLAT § o< ATIH AT G0
40 TerHi/EeT it T & FT9H AT 3. 9 QST Ugd o gAY AT ATEq s ST Ty i &
FN[AT I & STAT § S ATIE 3 THT 799 S 61 FTEq 1A T o6 Sy T 9 v g T
=T F org 39t st iy s fivm.

(a) 55 forHt/erar

(b) 50 freft/eaT

(c) 48 Trfi/eT

(d) 40 Tfi/erer

(e) 45 Tefi/arer
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Q9. I WA A 3T B & #eq it T 138 T 3. U 37 A & B it X 9T L& FT g 3T
O ST B A A TF 94T g S I 6 5 918 AAd 5. A § B T I & Tl o, B ¥ A T i
ITAT FIA ATAT A T AT | 7 Tohefi/eier € Tl &, qv & T qTef & ohl T AT
Hifoa?

(a) 10 Fref/EeT

(b) 8 T/ ereT

(c) 12 feret/seT

(d) 15 frefi/eeT

(e) 18 Frefi/aer
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Q10. TF ATT gTXT & Nfager 18 fardt AT & g 3ferwi/ser Hit i & I FiTdT §, ot
1T & TqHA ag AT g 9 Fefi/sier it 7 & a3 <y 8. 91 1 § A7 it i q19
ENIE RN

(a) 3 Frfi/eeT

(b) 5 frei/eeT

(c) 7 Prfi/aeT

(d) FRratha 921 B ST aerar

(e) 6 Frefi/eer
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Q11. 3TEIT 3T WTEHT TH TATH P F FHHLT: 6:00 IS X 7: 30 I I HI Q9T #
ST &, 7201 37 e waer: 8 Ry wid s s 12 fft fy ser fy i & <heq &, 9y,
st 1 e o § fig g e

(a) 10 : 30 =rTTEA

(b) 9 : 00 YA

(c) 11 : 30 sraxre-

(d) 1 : 00 gateT

(e) 12 : 30 qatad

L1Difficulty 2

QTagsSpeed Time Distance
QCreatorDeepak Rohilla

Q12. T ¢ P 3T Q TF TAX it A A faerr # g @ 8. &7 P &t a1 240 Hiex qow
& P 3T Q &t i swwer: 72 fofi/ser sfie 90 fhfi/eer 3. AR A T @I FT IR FA § 15
Yhe AT § AT o Q T AT &l ITX LA H 24 e AT g, A hl AFTS, AT hlTorT?

(a) 150 Ht

(b) 165 ¥

(c) 200 H¥

(d) 125 Ht

(e) 250 Ht
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Q13. T F1¥ 40 Trei/sier it T & =Tt § ST qiad Agl &l STl g 3 A FLeA & 918 65
ToReT/=eT 31 T & At g1 AT & 918 A1 5 e § UF Mied g aF Fdl gl q6q qgl
BT O, FHIT A 1 a7 A | HIT T {7 AT T FHT 1q HI707?

(a) 10

(b) 7

(c)12

(d)8

(e) 6
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Q14. TF 180 Hiax &<t o, Ao feem & 5= areit 270 Hiex &<t 37 %7 10.8 Tshe & X
FAT g1 IR FIET I 12 Ahe | U GHT TR FAT &, A7 AT o oht 7 Fhaeit &2

(a) 98 fFfi/=iar

(b) 96 fFfi/=raT

(c) 90 ffi/siaT




(d) 88 faefi/eiar
(e) TAH T FIS Rl
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Q15. ¥ TATHT A 3% B % &= &I gt 320 T3 g1 gag 7 a1 UF X U &9 A ¥ B #¥ 37 55
FoRHT 9T = &t T & @1 BT 81 U 7T F1T qag 11 T 45 FeT 9fa = it 1fa ¥ 7
T B & A &l 3T LT &l gl 1 F1E 6T 07T UH-ga< & fHeiii?

(a) 11 AT

(b) TMAET 12

(c) 1 3rTTeT

(d) 12 : 30 IS

(e) 1: 30 TI¥TET
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Solutions
S1. Ans.(b)
Sol.
Let speed of another train is x kmph
180 + 270
n——=1038
(x +60) % 18

= 450 = 18 = 54 (x + 60)
=x+60=150
= x =90 kmph

S2. Ans.(a)
Sol.
Let speed of train and car are 16x and 15x

Since, speed of bus = 4:%0 kmph

= 60 kmph

~ Speed of train = 60 X :—
= 80 kmph

~ Speed of car = E » 80
=75 kmph

~ Distance travelled by car in 6 hours
=75 % 6=450 km

S3. Ans.(a)



Sol.
Let speed of stream = 5 km/hr
~(12-8)x4=36
= 5=3 km/hr

S4. Ans.(b)
Sol. Difference of time = 6 minutes -5 minutes 52 seconds = 8 seconds
Distance covered by man in 5 minutes 52 seconds

= Distance covered by sound in 8 seconds
=330 = 8 = 2640 metre

2640 metre

. Speed of man =
5 mmu tes 52 seconds

2640 2640

e e ¢ L — —kmph
352 352

= 27 kmph

Ratio of distance covered by train P totrainQ =150:50=3:1
So, ratio of speed of train PtotrainQ=3:1

S5. Ans.(a)
Sol.

o>150 50,
A 200km B

)

S6. Ans.(c)
Sol.
Average speed = —u = 10 kmph

\/
/\

Ratu:r of time taken at 7 kmphto 12 kmph=2:3
Time taken at 7 kmph = % ¥ 10 = 4 hours.

Distance covered at 7 kmph =7 x 4 = 28 km.
Distance covered at 12 kmph =100-28 =72 km.

S7. Ans.(d)
Sol.



Let the speed of the train be x m/s
According to the question,
(x+10)x12=(x+20) = 10

= 6x + 60 = 5x + 100

= x =100—- 60 =40m/s

- Length of the train = (x + 10) x 12
= (40 4+ 10) X 12 = 600 metre

S8. Ans.(d)
Sol.
Required average speed

4
Ly, Lo, Do L

6D+4-IJ 120 zZo

4x120
= =40 kmph
12

S9. Ans.(b)

Sol.

Let the speed of slower train be x kmph

Then, speed of faster train = (x + 7) kmph

As the trains are moving in opposite directions:

Relative speed =x+ (x + 7) = (2x + 7) kmph
Distance travelled

Time taken = =6
me en Relative speed
138 138
= — o710
(2x+7) 6

=22x+7=23=2x=23-7
.-.x=§=8kmph

S10. Ans.(e)
Sol.
speed of boat in still water

=§(9+3] = 6 km/h

S11. Ans.(a)

Sol.

Distance between Arun and Bhaskarat 7 : 30 am
=8x1-=12km

Time taken by Bhaskar in covering a distance of 12 km
_ 12
T [12-8)
~ Required time = 10 : 30 am

= 3 hours



S12. Ans.(b)
Sol.

Let length of train Q = x metre
« (x + 240) = (72 + 90) x f‘—sx 15
= x=675-240

= x=435m

~ Length of tunnel

5
=90 X 24 x —-435
18

=600 - 435
=165m

S13. Ans.(d)
Sol.

After servicing speed = 65 km/h
Time =5 hours
Distance = Speed x Time =65 x5 =325 km
Before servicing, speed = 40 km/h.
So, time taken
Distance 325

Speed 40
= 8 hours (approx.)

S14. Ans.(b)

Sol.

Total Distance = 270 + 180 = 450 m

Time taken to cross each other when moving
in opposite direction = 10.8 5

-~ Relative speed of trains = % * g = 150 km/hr

28 x 22 = 54 km/hr
12 5

~ Speed of longer train = 150 — 54 = 96 km/hr

Speed of shorter train =

S15. Ans.(b)
Sol.



Distance travelled by the first car in 4 hours
=Speed = Time =55 % 4 = 220 km
Remaining distance = 320 - 220 = 100 km

' Drigtance
Time for both cars to meet= ————
Relative Speed

100 100
= =—=1 hour
55+45 100

~. Both the cars will meet after 1 hours

means at (11lam + 1} = 12 noon.



